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S8 MHHS 24-CC0003 HOIX (1) / (& 5) ESEHLA - 2024, 01. 12.
o = \; DEUN=EN2E =8 L ¢ 2024, 01. 12.
= e NEF 2otH S2XE 806, Fotx H2S sHAAR 0l & I
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_ §§-’I ix-Ih:E - -
= = =3 S H9d4 _<°2 A=A =1
éil% s304 Jgl:ll (L/min) G (JH/mm% (L= == O1Ji
= (min) N /om?) ST T
_ wonslLab _ _ _
A-1 SXEH sampl ing pump 9.522 270 0] Gt
_ - wonsLab _ _ _
A-2 SXEAH A sampl ing pump 9.514 270 0] Gt
wonslLab
A-3 SXEH sampling pump 9.510 270 1.274 - - 0] Gt
_ wonsLab - -
A-4 SXEH sampl ing pump 9.519 270 1.274 0] Gt
o+ EH=E(OH/cm®) = {8QLZ(H/mm?) x IHFESEA (nm?)} / ZESH(L), HFHEA = 385mm°
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g8 ANHS  24-CC0003 HIOIXI (2) / (& 5) ESEHLA - 2024, 01. 183.
o 2 X NFUSKEF =8 L - 2024, 01. 183.
= & 0 NP POY 22X2 806, RoE "ps AV 0 g I
- =3 21 -
NS . =3 gy | N3 | dsus | SEES | agum | za
#s B Sl (L/min) | (niny | OB/mm®) | S5 58 | o
wonslLab
A-1 SXNEAHH sampling pump 9.528 270 3.822 0.001 - 1]
- wonslLab _ _ _
A-2 EONEEW R sampl ing pump 9.520 270 ]
wonslLab
A-3 SXNEAHS sampling pummp 9.504 270 - - - 1]
wonslLab
A-4 | EXEAHE sampling pump 9.511 270 1.274 - - 0l
o wonslLab _
A-5 | 1ML sampl ing pump 9.515 80 2.419 0.001 ]
o o = wonsLab _
A-8-1 | SLIISIIHHE&+ sampling purmp 9.521 110 3.328 0.001 0l
= o = wonslLab _
A-8-2 | SLIISIIHHE&+ sampling pump 9.518 110 3.328 0.001 0l
= o = wonslLab _
A-8-3 | SIJISIIti&+ sampl ing pump 9.516 110 3.323 0.001 1]
ool gL= wonsLab _
A-9 HOIZ2EtE=+ sampling pump 9.512 80 9.675 0.005 0l
HolS 9D wonsLab _
A-10-1 | HIOIZ2 22X & sampling pump 9.517 60 1.811 0.001 0l
o+ SR=EC(OH/en®) = {8KLZ(OH/mn?) x HESEE(mn?)} / ZESH(L), HHHE = 385mm’
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o2 AHH| (L/mln) (min) (jH/mm ) 7H/cm3) ST (003
HolS 9D wonsLab _
A-10-2 | HIDIZ222 XS samp! ing purp 9.521 60 1.207 0.001 0| ot
o+ ERST(OH/en’) = {8SUS(H/m’) x MEHX(mn?)} / ZE (L), HHAHE = 385mm’
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g8ANHS 24-CC0003 HIOIXI (4) / (& 5) eSS Rl 2024. 01. 14.
of g X DEHWNEANAE el N 2024. 01. 14.
= A NP PN S2XZ 806, POE gyus  BASIV 0 g I
- =3 21 -
N . a3 gy | N3 | dsus | SEES | agum | za
#s - Sl (L/min) | (niny | OB/mm®) | S5 58 | o=
wonsLab
A-1 SXNEAHH sampling pump 9.524 270 - - - o] et
- wonslLab _ _ _
A-2 | 2XZ AN sampl ing pump 9.520 270 0|2t
wonsLab
A-3 | REXEAHE sampling pummp 9.514 270 2.548 - - o] et
wonslLab _
A-4 | EXEAHE sampling pump 9.509 270 6.369 0.001 o] et
o wonslLab _
A-5 | 1ML sampl ing pump 9.515 60 4.226 0.003 0|2t
o o = wonsLab _
A-8-1 | SLIISIIHHE&+ sampling purmp 9.521 120 6.009 0.002 o] et
o o = wonslLab _
A-8-2 | SLIISIIHHE&+ sampling pump 9.518 120 6.009 0.002 o] et
o SHL= wonslLab _
A-9 | HIDIZBEF sampl ing pump 9.513 75 6.784 0.004 0|2t
HolS 9D wonsLab _
A-10-1 | HIOIZ2E2X&E sampling pump 9.508 60 1.811 0.001 o] et
HolS 9D wonsLab _
A-10-2 | HIOIZ2 22X & sampling pump 9.526 60 2.415 0.002 o] et
o+ SR=EC(OH/en®) = {8KLZ(OH/mn?) x HESEE(mn?)} / ZESH(L), HHHE = 385mm’
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o g A DEUN=EN2E =&k 2024. 01. 20.
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_ ég EI-IE:E - -
2 _ =3 S H9d4 _<°2 d=484H | =1
éili saxs | (L/min) — (JH/mm% (N0 i == ;g
= (min) N /om?) ST T
HolS 9D wonslLab _ _ _
A-10-1 | HO S22 X & sampl ing pump 9.514 60 0] Gt
ino | o wonslLab _ _ _
A-10-2 | HO|IZ2 22X & sampl ing pump 9.512 60 0] et
HolS 9D wonslLab _ _ _
A-10-3 | HD S22 X & sampl ing pump 9.522 60 0] Gt
o+ EH=E(OH/cm®) = {8QLZ(H/mm?) x IHFESEA (nm?)} / ZESH(L), HFHEA = 385mm°
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